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ECONOMICS
( General )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x7=7
weofo i enpiRa Ted fion

(a) What is the basic problem of an
economy?

<1 YRS 249 Mo F 2

(b) What is meant by static equilibrium?
iR SR e o gm 2
(c) What is indifference curve?

e @ &2

(d) What is price effect?
W T A 87

20A/326 . ( Turn Over )



(2)

(e) What is price discrimination?
71 R A &2

() Define marginal rate of substitution.
e efrsma 2R wigen it |

(g9 What is production function?
Teom T 6 2

2. Answer the following questions : 2x4=8

S oRPTEd Teq fid

(a) Mention two characteristics of monopoly
market.
GO IR 70! CAET BrEy 0 |

(b) Point out the differences between risk
and uncertainty. '
NP AF WAHIOR WA LT (AR
faam

() What is normal price?
Tofs 7 2

(d) Mention two defects of cardinal
approach.
MRF Toeafarer wo3m 7o1 @b Say 40 |
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(3)

3. Answer any three of the following questions :
5x3=15
wore gl eppryzd R e fofter e firn -

(a) Show the differences between returns to
a factor and returns to scale.

ToAM B ofeTH WF AR AR WEe
AP NPT YT |

(b) Mention any five properties of
indifference curve analysis.

s @ Ren| R @ <o e

S 90

(c) Show the difference between Trent’ and
‘quasi-rent’. '
QA SF TP A w7 AL
argat

(d) Mention the conditions of short-run
firm’s and industry’s equilibrium under
perfect competition.

o§f dferAfenEe ER IPT AT =E
BT TP ST SR TrEy 4 |

(e) Show the differences between fixed
costs and variable costs.

i 0 % RIGTN IR & N6 TR0 -
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4. (g

(b)

(©)
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(4)

Explain consumer’s equilibrium with
the help of indifference curve analysis.
fAers @ ReAR RES (SreR STl
A 41 |

Or / 941
Explain producer’s equilibrium with the
help of isoquant curve.
- RYR AE BRI SIS
gt
State and explain the law of variable
proportions with the help of appropriate
diagram.
“Radae were Rfdch Soge ffaw e
RISl

Or / [
How can we derive the short-run
industry’s supply curve under perfect
competition?

of AfSierEe e TR ZEFaE
@ 331 e sz 307+l 2
Critically explain the Hawley’s risk-
bearing theory of profit.
O HOIF I G AR OIS
HISRCET |

' Or / 97

How are wages determined under
perfectly competitive market?

of sfscfienee Jae v TR fAdRa
T
* ok
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